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on the title page of the answer-book. 

 Series BCDA1/2  SET~2 

  Q.P. Code        

Roll No. 
 

 
 NOTE 

(I) 

5 

(I) Please check that this question paper 
contains 5 printed pages. 

(II) (II) Q.P. Code given on the right hand 
side of the question paper should be 
written on the title page of the 
answer-book by the candidate. 

(III) 

13 

(III) Please check that this question paper 
contains 13 questions. 

(IV) (IV) Please write down the serial 
number of the question in the 
answer-book before attempting it. 

(V) 15 

10.15 10.15 
10.30 

(V) 15 minute time has been allotted to 
read this question paper. The 
question paper  will  be  distributed 
at 10.15 a.m. From 10.15 a.m. to 
10.30 a.m., the students will read the 
question paper only and will not 
write any answer on the answer-book 
during this period. 
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:

(i) 13  

(ii)  

(iii) 8 1 8 2 

50 

(iv) 3 9 11 4 

100 

(v) 2 12 13 6 

170 

(vi)

 

I¥T H 

1. 1971 Yy Mt²¾pe W~ q\§N~ ApcqXH g¥HR Yy dBr Ot¥`yepc qHgy Y} Hpc²¾p£ Yp 
qefdyfV Hc} & 2 1=2 

2. Yvgcy qefe at§Z W~ q\§N~ avc}\r Yyfp£ Yy gph`Vy ApV epdrAp£ qHgy Y} `tfHdp£ 
²¥¾v EOpJc Hc} & 2 1=2 

3. 1975 qeM K}fVp HrWy JBy cpfRcr A\pWHpd Yy _pcW Yy d}Hp£ E\c \By 
\o_pe Yp ApHd²¾ Hc} & 2 

4. Yr²¾qYApd E\pqZApBy cphs \oqW\pqYW g`vMp `p²¾eWpepY  Yp AcX g\fR 
Hc} & 2 

5. _pcWrAp£ Yy IpV-\rV Yr ApYWp£ E\c qeferHcV Yy qHgy Y} \o_pep£ ²¥¾v 
EOpJc Hc} & 2 1=2 

6. qeferHcV Yr `tIpd³W (qec}Z) Yy qHgy Y} Hpc²¾p£ Yp qefdyfV Hc} & 2 1=2 
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7. qeferHcV Yy qHgy Y} cpO²¾rqWH ²¾WrqOAp£ ²¥¾v EOpJc Hc} & 2 1=2 

8. (a) ApqgAp²¾  Yr gXp\²¾p Hc²¾ epdy qHgy Mpc Yyfp£ Yy ²¾p` qd§I} & 4
2
1

=2 

   Op £ 

 (b) avc}\r g¥K Yy qHgy Mpc |̀^c Yyfp£ Yy ²¾p` qd§I} & 4
2
1

=2 

I¥T I 

9. YHfyg (SAARC) Yr g³dWp Yp t̀d¥HV Hc} & 4 

10. q`drAp£ OtdrAp£ JS¾^¥Z²¾ YrAp£ gcHpcp£ Yr AJepBr Hc²¾ epdy _pcW Yy 
qHgy A§S¾ \oZp² ¾`¥WorAp£ Yy ²¾p` qdI} & 8

2
1

=4 

11. _pcW  Yy qYWy JBy cpO²¾rqWH cyIp-`p²¾qM§Wc (\¥²¾p 4 Wy), qeM Mpc cpOp£ ²¥¾v 

            AWy    cphs YcgpqBAp qJAp h± & hyS¾ qYWr JBr OpVHpcr Yy 
AZpc Wy qB²¾ªp£ cpOp£ Yr \NpV Hc} AWy Ap\Vr E¨Wc-\tgWH qeM qB²¾ªp£ Yy 
ghr ²¾p`, ecW~ qeM qdAp£Yr JBr OpVHpcr Yr n` g¥qIAp AWy `p²¾qM§Wc 
qeM qYWp qJAp g¥̂ ¥qZW A§Ic, hyS¾ qYWr JBr WpqdHp Yy cv\ qeM qdI} : 

ecW~ qeM qdAp£Yr JBr 
OpVHpcr Yr n` g¥qIAp 

`p²¾qM§Wc qeM 
g¥ ¥̂qZW A§Ic 

cpO Yp ²¾p` 

(i)   

(ii)   

(iii)   

(iv)   

(i) Eh cpO qOg Yy ²¾pd `¥Td Hq`f²¾ Yy MyAc`±²¾, ^r.\r. `¥Td Yp 
g¥ ¥̂Z gr & 

(ii) Eh cpO qOXy g}̀ ²¾pX `¥Yc gqXW h± & 

(iii) Eh cpO qOhmp gor d¥Hp Yy ²¾gdr Y¥qJAp£ HcHy g_ W~ qkApYp 
\o_pqeW h}qBAp & 

(iv) Eh cpO qOXy ^htO²¾ g`pO \pcRr ²y¾ gcHpc ^VpBr gr & 4 1=4 



 

.221/2/2 4  

\of²¾ g¥. 11 Yy dBr    
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A
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_pcW Yp cyIp-`p²¾qM§Wc (cpO²¾rqWH) 
 



 

.221/2/2 5 P.T.O. 

: 

11 :

(11.1) `¥Td Hq`f²¾ Yy MyAc`±²¾ chy ^r.\r. `¥Td, 1967 qeM qHg cpO W~ 
g¥gY `|^c MtVy JBy g²¾ ? 

(11.2) ^htO²¾ g`pO \pcRr ²¥¾v g_ W~ \qhdp£ qHg cpO qeM e§Tr g³dWp 
q`dr gr ? 

(11.3)  HzYc qeM ^Vr cpfRcr `}cMp Yr \qhdr JS¾^¥Z²¾ gcHpc Yy 
\oZp²¾`¥Wor Yp ²¾p` qdI} & 

(11.4) h}c q\Ndy ecJp£ Yy dBr cpIep£ Hc²¾ ²¾rWr dpJv Hc²¾ epdy Hc\vcr 
S¾pHtc qHg cpO Yy `t§I `¥Wcr g²¾ ?  4 1=4 

I¥T J 

12. (a) _pcW qeM 1971 Yy Mt²¾pe ²¾WrqOAp£ ²¥¾v \o_pqeW Hc²¾ epdy qHgy qW¥²¾ 

HpcHp£ ²¥¾v g\fR Hc} & 3 2=6 

Op£ 

 (b) 1969 qeM Hp£Jcyg \pcRr Yr e¥T Yy dBr Ot¥̀ yepc qHgy qW¥²¾ Hpc²¾p£ ²¥¾v 

g\fR Hc} & 3 2=6 

13. (a) \pqHgWp²¾ qeM d}HW¥Wc qHE¤ g³d ²¾hs h} gqHAp ? qHgy qW¥²¾ Hpc²¾p£ 

Yp qegdyfV Hc} & 3 2=6 

Op£ 

 (b) ByqfAp Yy gpcy Yyfp£ qeM d}HW¥Wc Yy \oWr qeAp\H g`cX²¾ h± &  

qHgy qW¥²¾ Yyfp£ Yy EYphcV d± Hy HX²¾ Yp g`cX²¾ Hc} & 3 2=6 

 

 


